BANLUTRDIFROLBE (W)

A P54

CERR2TEE10H 57)

— B AL - 4R

ST g4 s T AT (T3
WS LTS DA TR OB R SEAOHURO I PERE LR | ROORTHOBE VAR OET | e Alog (aa | EH RIGH (BA) WAL i
K OFEH! o I k) (M) (M)
HOERBR TS B4 D SEE RN | IMSZAT UL AN BR 55 AR (R A MABHFET— Y = v— (Blir
TNERDBBLEHILE - Fole [SUOM N B (2l AR FIRRTEI0R 1SR AR EuHS  OHF 36— — A AL 8, 370, 000) 3,304, 800 39. 50%
% AR B2 1R 7 32 XK T 1310 FORAR TR X E £ R2-1-12 7, 750, 000
TG YA BIRER A OMATITIR D | AMSZAT UL AN BREE AR (R A & imkkAatt AR AL (Blir
FHEVEO M L3 L OB O (250040 B SR fu SERG2TAEIOA 220 B 7 iR E EE R THE SRR “jf\ET i 4,827, 168) 4,752, 000 98. 44%
BRI BE T D IR A EH AR B2 TR 77 32 XK B T 1310 TOFCHR P& X BTG 1-5-2 e 4, 469, 600
Y e e A e o | RSTATEOE N BRBE T AR AR RS HURCHA A X T A TSR] 11 R (BiiA
f%ig;?{zﬁ%g{g¥§ﬁ 7l B kE FR2THEI0A 22 RSt Z7 147 v o <2§?’f§'{%ft 12, 757, 824) 10, 260, 000 80. 42%
- 7 AR R T 52 R BT RT 1310 REMARALR WE bz e 11, 812, 800
R IR G v T |srirse Amssm /(R bt KIRRARIKehi3-2-16 P (B
T o ‘/th; o TR PR EE ERR2TAEI0A 220 |7 :)Eﬂﬁili)fxxté:& <%§3§é%ﬁ) 4, 900, 392) 2, 749, 680 56. 11%
= Z /s B b e o T 4 L = " =
I R A2 1 YR 717 3 X KBTI 1310 REPuFRALR  Em Rk 4,537, 400
PN R AL HERL .
s - | IRSEATEE N BREE P AR AR A A Nl (Biia
MR R I AR D T |y by o s - : REBHEALE /DA B -
ot . e |FUROIRNMEL PREE (EEF AR WR27TAE10H 29 A e — 4 AFL 3, 909, 600) 1, 706, 400 43. 65%
9N & OB OMHLIEEAS (7)1 01 7 4205 K £ 1310 I . IR .77 | 5172 3, 620, 000




